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0.050kV ~ 5.000Kv

+ (2%I1EE+5V)

1v

100VA ( 5.000kV/20mA )

20mA

0~20mA , O=F¥IiT TR

200uA. 2mA. 20mA

IF5%R

<2% ( ZEREEpE R )

13~15

DDS+IiK

0.35~999.9s 0=H3/% FFT[EX

0.3s ~999.9s 0=3ZELEMiz

0.3s~999.9s 0=E3 /& TNRE&AT[EIR

0.0s ~999.9s O=[E)fERT AR

16

N&R=(, Gzl

0.050kV ~ 6.000kV

+ (2%I1EE+5V)

1v

60W ( 6.000kV/10mA )

10mA

2uA. 20uA. 200uA. 2mA. 10mA

<5% ( 6kV/10mA )

<200ms

10mA

0.35~999.9s 0=H3/% FFT[EX

0.3s ~999.9s 0=3ZELEMiz

0.3s~999.9s 0=F3 /& TNREATFIEIR

0.0s ~999.9s O=[E)fBRT AR

0.3s~999.9s 0=FERHRERIIEK
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0.050kV ~ 1.000kV
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1v

10GQ

9.999GQ

1MQ
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[EIBRAYIE) 0.0s ~999.9s O=[a)FBRT AR
Bahtats( AREAF. X
Gzl <200ms
PHEEE 16
AC 0.050kV ~ 5.000kV
SBEl
DC 0.050kV ~ 6.000kV
BE + (2%IEE+5V)
DR v
SREE BEHRE
WS 0 ~ 20mA
0 ~ 10mA
200uA %Y : 0.1uA , 2mA# : 1TuA , 20mA £ : 10uA
DR 2uA #Y : 0.001uA, 20uA £ : 0.01uA, 200uA 1Y : 0.1uA, 2mA#Y4 1uA, 10mA Y :
10uA
MRS 22mA Ht (2%+54F) , <2mA Ht (3%+543F )
1m*BIRE M2 B BRI R IR AT LR 2.
R GND &= : RETURN Bt FLOAT #83%, : RETURN i
Mtz =
T
MESEE IMQ ~9999MQ ( CS9919AX [R4H )
syifi 1IMQ~9.999MQ : 0.001MQ , 10MQ ~99.99MQ : 0.01MQ ,
100MQ ~999.9MQ : 0.1MQ , 1000MQ ~9999MQ : 1IMQ
0.100kV ~ 0.200kV:1IMQ ~ 999MQ +5% , 1000MQ ~ 3000MQ +10%
0.201kV ~ 0.499kV:1MQ ~ 999MQ) +5% , 1000MQ ~ 5000MQ £10%
0.500kV ~ 1.000kV:1MQ ~ 999MQ) +5% , 1000MQ ~ 9999MQ +10%
0~999.9s
0.1s

+ (0.1%+50ms )




